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jméno zák. čeho k?

šif1.4
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»tpkái -#1š

#56

¶P ¶P

kompres.

 perm.

  expanz.
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  subst. #8

   ¶S-boxy

permut., ¶p-box

¶láiš
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#32

#32

#32
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¶ráiš



#64 bit input

permute

¶L#2  ¶R#2

f(¶l#1,¶r#1,¶k#1)

#56 bit key

¶k#1

#56 bit

¶L#3  ¶R#3

f(¶l#2,¶r#2,¶k#2)

¶k#2

¶obr. #1.5:

¶L#17  ¶R#17

¶k#16

¶L#1  ¶R#2

#64 bit output
1.5

permute
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má#1š

»des

má#2š

»des

cá#1š cá#2š

init.

vector

sent sent

cá#1š

»des

cá#2š

»des

má#1š má#2š

init.

vector

sent sent

1.8a

1.8b

¶obr. #1.8ża: šifrování

¶obr. #1.8żb: dešifrování



1.10

¶x ||

¶h d

¶ká»saš

¶h

e

¶ká»vaš

¶a

? =

¶b

¶x

¶t: dá»ksaš(¶h(¶x))

¶t

1.11

¶x ||

¶h ¶s

¶ká»saš

¶h

¶v

¶a

? =

¶b

¶x

¶s

k
¶ká»vgš

¶s: ¶sig

¶v: ¶ver

¶ká»vaš, ¶ká»vgš: skupinový

  klíč, parametry

k: náhodné

¶r

¶ká»vaš

¶ká»vgš



oblast bez portfeje

bezpečnost »IT

oblast elektroniky

oblast komunikace
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